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hit , a) = f- la - t ) e soit MIO ) do µ
REGl0N2_ off t Fa = plain

nltio ) = /?bla ) htt .a) da .

-
characteristics : a = t - to

It = Tula) n = -µ It - to )n

nlt.at = htt . .
O ) e-to

"

MIO )do

=n,e.µµ;
using the BC :

t n

nttiol-I.blalnhta.de#pI=t-
+fIbla)nttia uni R,
-



"= If fbla) ntt- a , o ) e - timedo ) da
-

+ [(b la) f e- It mio ) do ] da
linear eqn for nltio ) .



Exampleda) = µ ,
bla ) = b H lar - a)

bla) n

b-I↳
a

92

It + Fa = -µn No , a) = I

ntt , 0 ) = IF bla) htt , a)da
= b)oarnlt , a) da

characteristics

I

*
%.

:*:*.

1-
do AR

A

-

f-Ia) = I



RE9-0NI A7T

characteristics : a = ttao 1=-11%7--1
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Casf t > are
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Ntt ) = Newt

Relw) > 0 ⇒ pope grows
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htt , a) = est Fla)-

/ stable age distribution
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Initial and boundary conditions
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3.3 structured models for populations d- phrhleratrng

-
celltypes : ptt.SI = # cycling cells at positions d-

the cell cycle attinet .

qtt , = # quiescent cells at positionsat
the cell cycle attimet .

off =-µN
-

re-entrycell death 1 to the

cells exit on
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the cell

cycle

NLH = lpttisltg.lt ,d) ds = total number
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Initial conditions plots ) - pols) initial dist .
-
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Boundary Wharton
-
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Separable solutions : p It , s ) = eat Pls )
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The boundary condition gives

P1S -_ 0) = 2Pls=T ) ⇒ Poo = 2Pa e
-wt

.

'

. I=2e-wT

⇒4n%÷iT
µ=µgpµ+gµy, ]
÷:*: ⇒ ±

= Potion

Go = NN1 Not N )TtN)Po
=# - I }

7
IWT = Po f-In- I ] = Powq ⇒µun2
Pls ) = 2µN2e-

ws

QCSI = 2µN2/nNlNotNI
-
WS

NotN)C


